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QUESTION 1

During yesterday\\'s business hours, a cache drive failed on one of the vSAN nodes. The administrator reached out to
the manufacturer and received a replacement drive the following day. When the drive failed, vSAN started a resync to
ensure the health of data, and all objects are showing a healthy and compliant state. The vSAN administrator needs to
replace the failed cache drive.

Which set of steps should the vSAN administrator take?

A. Remove the existing vSAN disk group, and physically replace the device. Then, check to verify that the ESXi host
automatically detects the new device. Afterwards, manually recreate the Disk Group.

B. Physically replace the failed cache device, and vSAN will automatically create a new disk group. Then, remove the
disk group with the failed device.

C. Physically replace the failed cache device, and vSAN will automatically allocate the storage. Then, rebalance the
cache layer.

D. Place the disk group into maintenance mode, and select Full Data Migration. Then, physically replace the failed
cache device. Afterwards, vSAN will rebuild the disk group automatically.

Correct Answer: B

QUESTION 2

A customer is running a number of compute-intensive application workloads on their existing 4-node vSAN cluster that
has resulted in resource contention. To provide additional compute resources, the vSAN administrator has decided to
deploy a new 4-node vSAN compute-only cluster so that a HCI Mesh can be configured.

Which three points would the vSAN administrator need to consider before using this configuration? (Choose three.)

A. The storage policy must be based on the number of hosts within the client cluster.

B. The storage policy is based on the total number of hosts across both client and server clusters.

C. A storage policy of Erasure Coding with FTT=2 would be supported.

D. A storage policy of Mirroring with FTT 1 would be supported.

E. A storage policy of Erasure Coding with FTT=1 would be supported.

F. The storage policy must be based on the number of hosts within the server cluster.

Correct Answer: DEF

QUESTION 3

The Resyncing Objects view in the vCenter Ul reports that some objects are currently resyncing. Which two actions
would cause this situation? (Choose two.)

A. DRS is relocating VMs between vSAN nodes.
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B. HA Virtual Machine Monitoring forced a VM to reboot.
C. A host failure occurs in the cluster.

D. A change to the storage policy is applied to the objects.
E. A VM snapshot is being deleted.

Correct Answer: CD

QUESTION 4

A remote location was configured with Cloud Native Storage. When the administrator put the host in maintenance mode
to perform monthly patching, the File Server Health check was triggered.

Which action, if any, should the administrator take to resolve the issue?

A. Click the Repair Objects Immediately button in the VMware Skyline Health Checks.
B. Remove the host from maintenance mode, and put it back with Full Data Migration.
C. It will resolve after 60 seconds, so no action is necessary.

D. Modify the repair delay timer to 75.

Correct Answer: A

QUESTION 5

The DevOps team of an organization wants to deploy their new cloud native application with persistent storage on a
dedicated vSAN cluster. The storage administrator is tasked to configure the vSAN cluster and leverage the vSAN
Direct feature.

Which two requirements must the administrator meet to complete this task? (Choose two.)

A. Unclaimed disks in the hosts for vSAN Direct

B. A dedicated network for vSAN Direct

C. A valid vSAN license for the vSAN cluster

D. An integration with vSAN File Services

E. vSphere HA enabled on the vSAN cluster

Correct Answer: BE
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